CLASS-12 JEE - MATHS

LINEAR COMBINATION
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A vector r is said to be a linear combination of the vectors a, b, c,
if there exist Scalars x, y, z such that T=xa+ yb + zc
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Thus the vectors 25 - B + 3:,3 —2b+ 43 are linear combinations of the vectors 5, b and ?

A linear combination of vectors, involves the two linear compositions of the addition of vectors
and the multiplication of vectors by scalars.

If two vectors have same or parallel supports, then each is a linear combination of the other. Thus
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if a and b are two parallel vectors, the
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n there exist a. nonzero scalar x such thatb = xaora = %b
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The vectors a, b, c are called linearly independent or linearly dependent according as
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xa+yb+zc=0

implies x =y = z = 0 or there exist at least one pair of x,y, z in which atleast one x,y,z is not
Zero.
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